N = 0l & At & Ml A

20199 &= =0 & LS JIEFSE A EX

2AM: EXIt
dM: EXZele =S85
S9l: DUSMO EXNY 2Y (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EX 1t 3,819,947 3,516,520 303,427
= 3,194,131
< 625,816
EX&ele e823 3,776,358 3,474,128 302,230
= 3,194,131
< 582,227
DAHSHO EXNEE 29 915,520 917,020 A 1,500
= 890,020
< 25,500
EXZel L HAHEM &EE 12,000 12,000 0
201 Let24E] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OEXNAL =& 2EEIIXN &8 fEs 29 6,000
202 O4dl 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
OEXNZel & HHEAM &8 6,000
HESAXIN HRFEX(2) 903,520 905,020 A 1,500
= 890,020
< 13,500
101 144 dl 19,000 22,000 A 3,000
= 9,500
= 9,500
04 JIZHHZ22XREE S 19,000 22,000 A 3,000
OMESAIXIL ZAH HE 19,000
= 9,500
< 9,500
201 2et24d] 4,000 4,000 0
= 2,000
= 2,000
01 At 2teltl 4,000 4,000 0
OMESAKXIN Hd2FX 4,000
= 2,000
< 2,000
202 O4dl 4,000 4,000 0
= 2,000
< 2,000
01 = LH o4 Hi 4,000 4,000 0
OMNE S AR 2=2 4,000
= 2,000
< 2,000
308 XtXIEHH SOl A 876,520 875,020 1,500
= 876,520
01 AXHHILEES 876,520 875,020 1,500
OMNESAIXIOb ZAF & &HH 876,520




2AM: EXI
dM: EXZele =S85
el DUSNO EXNYH 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | = 576,520
EXNHE 2F 158,111 134,371 23,740
= 73,111
< 85,000
ANE=g d2el 85,000 82,000 3,000
201 Let249] 67,000 64,000 3,000
01 At 22l 65,000 62,000 3,000
O=LX A Lt 30,000
ONAHZSXIA Jler AN¥SSIEL 2=F 30,000
OXNE2AS 29 5,000
03 &AL2 Z I 2,000 2,000 0
OXEAOILE & A& O 2,000
202 oddl 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
OXNH=g dntzel 8,000
401 Al& I 28I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OHIld BE2el 10,000
XA (=1) 73,111 52,371 20,740
= 73,111
101 124 dl 19,000 16,110 2,890
= 19,000
4 D12t Z2XEES 19,000 16,110 2,890
OJ1=d 22 ¥ N=dH s XNE2e 19,000
= 19,000
308 XX EHH SOl A 54,111 36,261 17,850
= 54,111
01 HXNHHBHELS 54,111 36,261 17,850
OGPS A=A 2 2HHIIH & 22l 54,111
= 54,111
20325 dRAN=24 MY 1,144,400 963,000 181,400
= 918,000
= 226,400
S2UAEFEAMY F& 2 LAN24H 226,400 363,000 A 136,600
201 Lt 2| 155,000 155,000 0
01 At 22l 8,000 8,000 0
OEIIRE =5 & £E=x=2 8,000
02 2324l 147,000 147,000 0
OZUZBEANAE & BUHEH |RXNES 147,000
202 04l 11,500 8,000 3,500
01 = LHA YI 11,500 8,000 3,500




EX
EXZele =3
SAEEs - 24 AtY

- _ _ RE]
SA - EH B (FH) - NRAY - BAS %Eﬁ HR=2
OZUBE =0 4 YN=A 8,000
OEEZ g2 d#d 89 & 3,500
207 SO0 | 29,900 155,000 A 125,100
01 A 9,900 0 9,900
OESHMEEZ2AAY JAEEBEASHI =X 9,900
02 & A EHH| 20,000 155,000 A 135,000
OZ3XY 223 25 L g2 20,000
405 XHA&HF S HI 30,000 45,000 A 15,000
01 AL 2 FF S| 30,000 45,000 A 15,000
OZSXNY B2AFE 2= == 30,000
S8 XotAIE 2 & ASH 918,000 600,000 318,000
= 918,000
403 XX S HS K20 & 918,000 600,000 318,000
= 918,000
01 AIXISHHMAE2E X 918,000 600,000 318,000
O =ZJ|8t XIotAl &= SS3E - S8
29 918,000
= 918,000
TEYHFA - ESA 22 194,327 170,737 23,590
C2HZA AMY =X 140,400 137,000 3,400
201 et d| 30,400 27,000 3,400
01 AFR 2t 2| H| 30,400 27,000 3,400
OE2HTA - MYz 29 5,400
OHEE BESA MHE Y 5,000
OBsSA MUAHLHET & Z2IIXEHSs 8 20,000
202 o4 | 8,000 8,000 0
01 2L I 8,000 8,000 0
OE2HFA L 24 8,000
301 et A= 2,000 2,000 0
09 HAIAHI BEAZ 2,000 2,000 0
OEZYHEFA AMEZHZE 2,000
403 XX SHHM S X201 A 100,000 100,000 0
01 XS A=2E X 100,000 100,000 0
OCHUHAIE LM EAF S 100,000
E2YHFAINEE RANES 38,187 20,319 17,868
403 XX SHHS K20 & 38,187 20,319 17,868
02 BIJI2SHUtHst =S 38,187 20,319 17,868
OEZHZFA JI2 38,187
T2EFA - BESA 2E2(2 15,740 13,418 2,322




2AM: EXI
M EX el e85

CHelr CREEA - RSH el (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

403 UHXSHHSA=0l& 15,740 13,418 2,322

02 ZII 2SOl CHEH A= = 9 € AL b 15,740 13,418 2,300
OINFLTZFEALAE SR 2L 15,740

K= TH= AFALS 1,364,000 1,289,000 75,000
= 1,313,000
< 51,000

NETHEAAY = (22) 1,313,000 1,278,000 35,000
= 1,313,000

308 XXM SO0 A 1,313,000 1,278,000 35,000
= 1,313,000

01 IXNHHBNEES 1,313,000 1,278,000 35,000
OXIE THZEA 1,313,000
= 1,313,000

K= THZE AFALS 51,000 11,000 40,000

201 et 5,000 5,000 0

01 At 22l 5,000 5,000 0
OXNAETEZA?EE 28 & EE=S MH 5,000

202 Odl 6,000 6,000 0

01 = LH 4 HI 6,000 6,000 0
OXNXTHZ=ALALY F& 6,000

405 RHoHE S HI 40,000 0 40,000

01 AL EZFH S 40,000 0 40,000
OXNAETEAL IE&=EE FH ¢ 40,000

HY I ZH (EXID) 43,589 42,392 1,197

Jl23l 43,589 42,392 1,197

FA2Y JIE23H 43,589 42,392 1,197

201 Let24E] 28,589 27,392 1,197

01 At 22l 28,589 27,392 1,197
ORAN2Y AR 22| 28,589

202 04 Hl 11,400 11,400 0

01 S OHI 11,400 11,400 0
FME2E S WAL 11,400

203 R =&l 3,600 3,600 0

04 FN2ELRZ=TH| 3,600 3,600 0
©202! olat 3,600




